UnynLuwy 102 " 451.02

1 bwhuwghé, 4 dwpn - 45 on

Iucdury

Sthulhywywu bwhiwagsh Yugddwlu

Qndwinp
NN 8nLgwlihoutn Qwithdwl Upwynp | utwyp | Yhwunnh windtpn nlnwutlp
Inpud/
Inpud/
1|Uohuwnwdwiné npwJ 407475:21 x36.22 702804.5
21Uy dwhuubin nhwJ 500
3{UwodwbdnLpjnLu % 5.06 35587.2077
4|Jdbpwnhp dwhuubn % 24.56 181471.8034
Cunwdtlup® npwJ 920363.56111
uu3 % 20 184072.7022
Udpnnopn® npwuJ 1104436.213
Fphgwnh Ywaup
1 Q{huwynp Jwuliwgbun 1 dwpn 105000 1 105000
2 Unwowwnwn dwuliwgbn 2 Jdwnn 95000 2 190000
3 Owtpwuwnnn 1 dwpn 80000 1 80000
4 4 375000
1.0866
407475
Iucdury
GPS ytuntiph ntnwquudwl
Unynuwy 12 " 311.04-06 /I Ywngh pwpnnipjwu/
1 yGw, 3 dwnpn -0.25 on
Qnidwpp
NN 8nLgwlpolbn ::,‘;,’zl‘l’,‘:’l’ Pwlwlyp U”‘"“}””’w‘t’;d‘"—’ﬂ punwuJtlp
n H Mmpwd/
1 [Wehwnwduna nnwd 293925.3:21x0.2550 3499
2 Uy dwhuubp npwdJ 800
3 |Qnpdnndwl Swhuubp on x dwpn 0.25x3 8000 6000
Ltpphu L. wpunwphu o
4 npwluuy. dwhuubp Yo 1 1133
5 |UwoqwénLpnLu % 5.06 578
6 |dbpwnhp dwhuubp % 24.56 2950
7 Uohuwwnwupltph Yuagdwy. W % 11 1258
InLdwnnLd
Cunwdtlup® npwd 16 218
uusz” % 20 3244
Udpnngp® npwd 19 461




~phgwnh Yuqup

1 Quwynp dwulbwgbn 105000 0.1 10500
2  Unwpwuwnwn Jwulwagbwn 1 dwpn 95000 1 95000
3 Iywpgh Jwulwgtwun 1 Jwpn 85000 1 85000
4 Jdwpnpn 1 dwpn 80000 1 80000
3 3.1 270500
1.0866
293925.3
IUucdUNy
2 nwuh guwlgh yGintph nGnwnpdwl
SGnwnpnud — 1 Y&, 5 dwpn - 1.9 on
Qnudwinp
SniLgwiuhutin Pwlwyp Uhwdnph wndtipp punwdJtup
NN Quithdwu Jhwynp /npwd/ /npwd/
1 |UGunwnw hunnndwy b 159 Jbunp 2.2 7500 16500
2 |UGnwnwwn h 8-12 Jbunp 8 260 2080
3 |3GnnLu hwn 1 5000 5000
4 [8GUGuwn Ug 120 56 6720
5 |Udwq Ug 400 10 4000
6 | swhuubpn npwyJ 1800
7 |QnpdnLnUwl Swhuubp on x dwpn 1.9x4 8000 60800
Ltpphu W wpunwphu % 11
8 |wpwluw. dwhuubp 10659
Cunwdtup® (1-8) 107559
9 |Uohuwunwywné npwJ 364554.3:21x1.9 32983
10 |UwodwdnLpjnLu % 5.06 7111
11 |JdGpwnhp dwhuubn % 24.56 36264
Uohuwwnwuplutph Jugdwy. W % 11
12 |inLbwpnid 15460
CunwdJtup® (9-12) npwd 91818
CunwJtup® 199377
uuzx® % 20 39875
Udpnneop® npwd 239253
Rnhgwnh Yuqup
1 Qjhuwdnn dwulwagbun 105000 0.1 10500
3 1Thwnpgh Jwulwgbn 1 Jwnn 85000 1 85000
5 Pwlynp 2 Jdwpn 80000 2 160000
6 dwpnpn 1 dwpn 80000 1 80000
4 4.1 335500
1.0866

364554.3




Unynuwy 13 " 312.06-08

ucdury

GPS ytwntph nhinwpynwdutn

1 yGw, 5 dwpn - 1.500 op /I pwpnnLjwl/

QnLdwpp
NN 8nLgwlpputin ::;Z:g:g:lu Lwluwlyp Uh uu[}m h wﬂfdb‘en punwdtup
n mn /Mmpwd/
1 [UWhuwwnwywné npwuJ 473214.3:21x1.50 33801
2 |UnLpwywl dwhuubtn npuwJ 800
3 [GnpdnLnUwu dwhuutn on x dwpn 1.5x 5 8000 60000
4 |vtinehu L wnunuwiphl % 11 10406
npwluy. dwhuubn
5 Uohuwwnwupltph Jugdwy. W % 11 6095
InLdwnnLd
6 |UwqwdnipinLu % 5.06 5622
7 |YGpwnhp dwhuubp % 24.56 28668
CunwdJtup® npwd 145 392
uu3” % 20 29 078
Udpnngp® npwd 174 470
Pphqunh Yuqup
1 Qjhuwdnn dwulwagbun 105000 0.1 10500
2 Unwpwuwnwn Jwulwagbun 1 dwpnn 95000 1 95000
3 1Thwngh Jwulwgbn 2 dwpn 85000 2 170000
4 1l ywngh Jwulwgbn 1 Jwnn 80000 1 80000
5 dwpnpn 1 dwpn 80000 1 80000
5 5.1 435500
1.0866
473214.3
Iuc4yury
UppwUjwywjhu gwugbph yGinbph ywydwl
UnynLuwy 88 " 421.01
1 yGuw, 1 Jwpn - 0.125 op
Qnidwpp
NN 8nLguwlipolbn ":I‘;,’L‘ZZ":'“ Lwlwlp U"‘”"‘Z”’w‘:';d"m punwuJtlp
n n Mmpwd/
1|U2huwnwywné npwdJ 120340.95:21 x 0.125 716
2|Uj| bwhuubn npwuJ 495




3{UwodwbnipinLu % 5.06 61
4|JYGpwnhp swhuukp % 24.56 313
Lunwdtup® npwd 1585
uu3- % 20 317
Udpnnop' npwd 1902
Pphqwnh Yuqudp
1 Qjruwynp Jwubwgbun 105000 0.15 15750
1 Unwowwnwn dwuliwgbn 1 dwpn 95000 1 95000
1 1 110750
1.0866
120340.95
Iuc4yury
SGhuuhywywl hwaytunynipjwl jugddwl /dhpwillyjwy/
UnjnLuwy 104 " 4.5.2
1 hwayGunynieinLl, 3 Jwpn - (65 x 0.3)=20 on
Qnidwpp
NN 8nLgwlpolbn ::,‘;,’zl‘l’,‘:’l’ Pwlwlp U”‘"“}””’w‘t’;d‘"—’ﬂ punwutlp
n Ll Mmpwd/
1{UWohuwunwywpb npwyJ 424588.95.3:21 x20 289760
2{Uy dwhuubp npuwuJ 3500
3|Uwodwbnipeniu % 5.06 14839
4{JdGpwnhp dwhuubp % 24.56 75669
LUunwdtupn® npwd 383768
uu3- % 20 76754
Udpnnon' npwd 460522
Pphquwnh Yuaqup
1 Qjhuwynp Jwuliwgbn 1 Jwpn 105000 1 105000
2 Unwowwnwn dwuliwgbun 1 dwpn 95000 1 95000
3 Owtpwuwnnn 1 dwpn 80000 1 80000
3 3 280000
1.0866

304248.0




UnynLuwy 102 " 451.02

1 bwhuwghd, 4 dwpn - 45 on

Iucdury
Sthuuhywywu bwhuwagsh Juqudwlu

Qnudwipp
NN SnLgwlhoutin Quihuwl dhwdnp | ewtwyp | YMwdnnhwndten | sun
/npwid/
/npwd/
1 {Uphuwunwywiné npwJ 407475:21 x36.22 702804.5
2|Uj dwhuubp npwJ 500
3{UwodwbnLpjnu % 5.06 35587.2077
4[JdEpwnhp dwhuubkn % 24.56 181471.8034
Lunwdtun® npwJ 920363.5111
uu3- % 20 184072.7022
Wdpnngp' npwuJ 1104436.213
Fnhgwnh Ywaqdp
1 Qlhuwynn dwulwgbiun 1 dwpn 105000 1 105000
2 Unwpwwnwn dJwulwqgbun 2 Jwpn 95000 2 190000
3 OwbGpwuwnnp 1 dwpn 80000 1 80000
4 4 375000
1.0866
407475
Iuc4ury
GPS ytwnbph hGunwgnundwu
Unjneuwy 12 " 311.01-03 /1 jwpagh pwpnnipjwu/
1 yGw, 3 Jwpn - 0.6250 on
Qnrdwpp
NN 8nLgwlpoUbn ":,‘I‘:ﬂl';"l' Lwlwlyp U"w‘l;’"”w‘:’;dbm punwutlp
n nn /pwd/
1 [Wehuwnuwywing AnwU 293925.3:21x0.6250 8748
2 W dwpuubn npuwuJ 550
3 |QnpdnLnUwit swhuubp op x dwpn 0.6250 x 3 8000 15000
LbnpphU W wpuwphlu o
4 wnpwluw. swhuubn o 1 2673
5 |Uw2dwbdnrpnLu % 5.06 1365
6 |dYGpwnhp dwhuubp % 24.56 6959
7 W2huwwnwupubph yugdwy. o 11 2067
W (nLswpnud
Cunwdtup® npwd 38 261
uusz” % 20 7 652
Udpnngp® npwd 45913




Fphgqwnh Yuqup

1 Q{uwynp dwuliwgbwn 105000 0.1 10500
2  Unwowuwnwn Jwulwagbwn 1 dwpn 95000 1 95000
3 IJwpgh Jwulwqgbun 1 Jdwpn 85000 1 85000
4 Jdwpnpn 1 dwpn 80000 1 80000
3 3.1 270500
1.0866
293925.3
Iuc4ury
GPS ybwntph innGnwquudwl
Unjneuwy 12 " 311.04-06 /1 ywpgh pwnnnipjwl/
1 yGuw, 3 dwpn - 0.250n
QnLdwpp
NN 8nLgwlpputin ::;;:z:;:'u Lwlwlyn Uh uul;m h w":l;db‘en punwdtlup
n nn /puid/
1 Lerunwdung nnw 293925.3:21x0.2550 3499
2 U dwhuubp npuwuJ 800
3 |QnpdnLnUwit swhuubp op x dwpn 0.25x3 8000 6000
LbpphU W wpuwphlu o
4 inpwuuw. Swhuubp o 1 1133
5 [Uw2ywbnipeinLu % 5.06 578
6 [dGpwnhp Swfuubn % 24.56 2950
7 U2huwwnwupubph ugdwy. o 11 1258
L jnswpnud
Cunwdtup® npwd 16218
uus’ % 20 3244
Udpnngp® npwd 19 461
Pphqunh Yuaqup
1 Qjhuwynp Jwulwgbun 105000 0.1 10500
2  Unwowuwnwn Jwulwagbwn 1 Jdwpn 95000 1 95000
3 Iywpgh Jwulwgbun 1 Jwpn 85000 1 85000
4 Jdwnpnpn 1 Jdwpn 80000 1 80000
3 3.1 270500
1.0866

293925.3




IUcCdUNYy
2 nwuh gwugh Ybntph tnEnwnpdwu

Stnwnpnud — 1 Y&, 5 Jwpn - 1.9 on

Qnudwpp
8nLgwuhaubn Pwlwyp Uhwynnph wpdtpp punwuJtupn
NN Quwithdwl Jhwdnnp /npwid/ /npwid/
1 [UGunwnyw unnnjwy h 159 Jtunn 2.2 7500 16500
2 |[UGunwnwwp b 8-12 Jtunn 8 260 2080
3 |3GnynLu hwun 1 5000 5000
4 [8GLJGuwn Ug 120 56 6720
5 [Udwq Ug 400 10 4000
6 Uy dwhuubn npwdJ 1800
7 |QnponLnUwl dwhuubp on x dwpn 1.9x4 8000 60800
Ltpphu W wpunwphu % 11
8 |wnpwluw. Swhuubn 10659
Cunwdtup® (1-8) 107559
9 |UWohuwunwywnéd npuwuJ 364554.3:21x1.9 32983
10 |UwodwbdnLpnlu % 5.06 7111
11 |JGpwnhp dwhuubkn % 24.56 36264
Uohuwwnwlputph juquwy. % 11
12 W jnLbswpnid 15460
Cunwdtup® (9-12) npwJ 91818
Cunwdtup® 199377
uusx’ % 20 39875
Udpnnep® npwJ 239253
Pphgwnh Yuaqdp
1 Quwynp Jwulwgbun 105000 0.1 10500
3 Iywpgh Jwulwgbun 1 Jwpn 85000 1 85000
5 Pwuynp 2 dwpn 80000 2 160000
6 dJdwpnpn 1 Jwpnn 80000 1 80000
4 4.1 335500
1.0866
364554.3
Iucdury
GPS yGwntph nhunwnynwdutp
UnynLuwly 13 " 312.06-08
1 YGw, 5 dwpn - 1.500 op /I pwpnnLpjwu/
Qnrdwpp
NN SnLgwlpolbn ":[‘I‘:zl‘l’;‘;,u Lwlwlyp U”w‘lgl’;,”w‘:’;dbm punwdtlp
/mpwd/
1 [W2huwunwydwné npwyJ 473214.3:21x1.50 33801
2 [Yntpwywl dwhuubn npwuJ 800
3 |QnpdnLndwit swhuubp op x dwpn 1.5x 5 8000 60000
LbnpphU W wpuwphlu o
4 inpwiliuwy, Swhuubp %o 11 10406




U2huwwnwupubph ugdwy.

0,
S L jndwpnud o 1 6095
6 |Uw2dwbdnipjnLu % 5.06 5622
7 [dGpwnhp Swfuubn % 24.56 28668
Cunwdtup® npwd 145 392
uu3z” % 20 29078
Udpnngp® npwd 174 470
Pphqwnh Yuqup
1 Q{uwynp dwuliwgbwn 105000 0.1 10500
2  Unwowuwnwn Jwulwagbwn 1 dwpn 95000 1 95000
3 IJwpgh Jwulwqbun 2 Jwnn 85000 2 170000
4 Il ywpgh dwulwgbun 1 dwpn 80000 1 80000
5 dwpnpn 1 dwpn 80000 1 80000
5 5.1 435500
1.0866
473214.3
Iuc4ury
UppwUjwywjhu gwugtph YGwntph Jawydwl
UnynLuwy 88 " 421.01
1 yGuw, 1 dwpn - 0.125 on
Qnidwpp
NN SnLgwlpoUbn f,‘;)’ﬂ‘l’,‘f" Lwlwlp U”“"l}””’w‘z’/’d”‘-”-’ punwutlp
n nn /puid/
1[U2huwwnwywnéa npwJ 120340.95:21 x 0.125 716
2{Uy bwhpuutp npuwuJ 495
3|UwoJwbnipinLu % 5.06 61
4{JdGpwnhp dwhuubn % 24.56 313
Cunwdtun® npwd 1585
uuz” % 20 317
Udpnnop' npwd 1902
Fnhqunh Juqup
1 Qjruwynp Jwuliwgbun 105000 0.15 15750
1 Unwowwnwn dwulwagbun 1 Jdwpn 95000 1 95000
1 1 110750
1.0866

120340.95




Iuc4dury
LhdGihpwyhU hEuwuh26ph  hGunwgnundwl

UnjnLuwly 27 " 322.24-28 ( IVywngh pwpnnipjwl )
1 hGuwuh2, 3 dwpn - 0.714375 on

QnLdwpp
NN S8nLgwilhutn ?;;:ﬁg:’u Lwlwlyp Uh Luq;m h w":’,.’/-'db‘en punwdtup
n nn /puwid/
1 Uzhuwwnwywinéa nnwd 293925.3:251x0.71437 9999
2 Uy dwpuubn npwJ 430
3 |[Qnpénundwl dwhuukn op x dwnn 0.714375x 3 8000 17145
LbnpphU W wpuwphlu o
4 npwluw. dwhuubp o 1 3033
5 |Uw2dwédnipjnLu % 5.06 1549
6 [dGpwnhp Swfuubn % 24.56 7897
7 U2huwwnwupubph ugqdwy. % 11 3367
W (nLswpnud
Cunwudtup® npwd 43 420
uus’ % 20 8 684
Wdpnngp® npwd 52 104
Pphgwnh Yuaqdp
1 Qruwynp Jwuliwgbun 105000 0.1 10500
2 Unwpwuwnwn dwuliwgbun 1 Jwpn 95000 1 95000
3 IJwpgh Jwulwqbun 1 dwpn 85000 1 85000
4 Jdwpnpn 1 Jwpn 80000 1 80000
3 3.1 270500
1.0866
293925.3
Iuc4Hury
LhyGihpwyhu hEuwuh2bph wnnwquudwu
Ungneuwy 12 " 311.04-06 /1 ywpgh pwpnnpjwl/
1 yGwn, 3 dwpn - 0.25 on
Qnidwpp
NN 8nLguilihzUbp %"I‘;ﬂl’;"“ eutwyp | PPN WIIERE | g
n nn /puid/
1 |enuunwdung AWy 293925.3:210.2550 3499
2 Uy dwhuubp npwuJ 595
3 |9npdnLndwl Swhuubin on x dwnn 0.25x3 8000 6000




Ltipphu W wpwuwphu
4 mnrtflTuLu. btﬂhjub%h % 1 1110
6 |Uw2ywénipniu % 5.06 567
7 _[d46pwnhp dwhuubn % 24.56 2891
5 U2huwwnwupubph uqdwy. % 11 1239
W jncswpnud
Cunwdtup® npwd 15 895
uus’ % 20 3179
Udpnngp’ npwd 19 074
Pphqwnh Yuaqdp
1 Qjhuwdnp Jwulwgbun 105000 0.1 10500
2  Unwowuwnwn Jwulwagbwn 1 dwpn 95000 1 95000
3 lYwpgh dwulwgbun 1 Jwpn 85000 1 85000
4 dJdwnpnpn 1 dwpn 80000 1 80000
3 3.1 270500
1.0866
293925.3
IucduUNy
UhyGihpwjhu gwugh gnpnLuwnwhu hEuwuh2tph tnGnwnpdwu
Urynruwy 33 " 325.11-15 ( Il ywpgh pwpnnLpejwl )
1 yGuwn, 6 dwpn - 0.8025 on
Qnudwipp
NN SniLgwuhgubin Pwlwyp Uhwynnph wpdtpp punwdJtup
Quwithdwl Uhwydnp /npwid/ /npwd/
1 JUGnwnw punnnwy h 250 JGunp 2.1 12000 25200
2 |UGnwnjw junnnwy h 150 JGunn 1.5 7000 10500
3 |UGunwnwwn b 8-12 JGunn 8 260 2080
4  JUGnwnwu Lowl hwwn 1 5000 5000
5 |[8GJGuwn Ug 120 56 6720
6 [Udwqg Ug 400 10 4000
7 Uy dwhuubp npwJ 500
8 |QnpbnLndwl dwhuubn on x dwpn 0.8025x 6 8000 38520
LbtpphU W wpunwphlu o 11
9 |unpwluw. swhuukn 10177
Cunwdtlup® (1-9) 102697
10 |Upfuwnwywina nnwu 554709.3:21x0.8025 21198
11 UwodwdnLpnlu % 5.06 6269
12 |dGpwnhp whuubn % 24 .56 31968
W2huwwnwupubph yugdwy. o 11
13 [ inLswpnid 13628
Cunwdtup® (10-13) npwdJ 73064
175761
uus’ % 20 35152
Udpnnep' npwdJ 210913




Fphgqwnh Yuaqup

1 Qjhuwdnn Jwulwgbun 105000 0.1 10500
2  Unwowuwnwn Jwulwagbwn 1 dwpn 95000 1 95000
3 lYwpgh dwulwgbun 1 dwpn 85000 1 85000
4 1l ywpgh Jwulwgbwun /pwlc 3 dwnn 80000 3 240000
5 dwpnpn 1 dwpn 80000 1 80000
6 6.1 510500
1.0866
554709.3
AucduUNy
UhyGihpwjhu gwugh wywuwnh hGuwuh2tph nEnwnpUwu
Unyncuwy 36, " 327.01-02 (Il ywnpgh pwpnnipjwu
1 yGuw, 3 dwpn - 0.3125 on
Qndwnp
Lwlwyp Uhwynph wndtpp punwutup
NN SnLgwlholbtp Quwithdwl Uhwydnp npwid/ /npwd/
1 [UGunwnuwl Lywu hwun 1 5000 5000
2 [8GLJGuwn Ug 1 56 56
3 [Udwq Ug 3 10 30
4 [U) dwpuubp npwuJ 600
5 |Qnponindwl Swhuubn on x Jwpn 0.3125x 3 8000 7500
LbpphU W wpuwphlu o
6 |wnpwluw. Swhuukp o 1 1450
Cunwdtup’ (1-6) 14636
7 |Uohuwwnwywnd npwyJ 288492.3:21x0.3125 4293
8 |UwdwbdnLpnLu % 5.06 958
9 [JdGpwnhp dwhuubn % 24.56 4884
10 Uohuwwnwupubph juagdwy. o 11
W (nLswpnud 2082
Cunwdtup’ (7-10) npwJ 12217
26854
uusx’ % 20 5371
Udpnnep® npwJ 32225
Fphqunh Yuqup
1 Quwynp dwuliwgbun 105000 0.1 10500
2  Unwowuwnwn dwulwagbwun 1 Jdwpn 95000 1 95000
3 Ilywpgh Jdwulwgbun 1 Jdwpn 80000 1 80000
4 dJdwnpnpn 1 Jdwpn 80000 1 80000
3 3.1 265500
1.0866
288492.3
AUucdUNy

UhyGihpwjhu gwugh dwjnwihu hGuwuh2tph wEnwnpUwu




Unyncuwy 35 " 326.01-02 (1 Ywngh pwpnnipjwl)

1 yGuwn, 5 dwpn - 0.3040 on

Qnudwpp
NN 8nLgwuh2ubin Pwlwyp Uhwynnph wpdtpp punwuJtupn
Quwithdwlu Jhwdnnp /npwid/ /npwd/
1 2 3 4 5 6
1 [UGunwnw unnnjwy h 150 Jtunn 1.5 7000 10500
2 [UGunwrnywu Uowu hwun 1 5000 5000
3 |8GJGun Ug 50 56 2800
4 [Udwq Ug 120 10 1200
5 [Uy bwpuubp npwyJ 450
6 |QnponLnUwl dwhuubp on x dwpn 0.3040x 5 8000 12160
LGnphu W wpuwphlu % 11
7 |npwluw. swhuukn 3532
Cunwdtup® (1-9) 35642
10 [Uohuwwnwydwnéd npwJ 467781.3:21x 0.3040 6772
11 |UwodwdnLpnlu % 5.06 2146
12 |dGpwnhp 6whuubp % 24.56 10944
U2huwwnwupubph ugqdwy. % 11
13 | ;nLbwpnud 4666
Cunwdtup® (10-13) npwyJ 24527
60169
uus® % 20 12034
Udpnnep® npuwuJ 72203
Fphgwnh Yuqup
1 Qfuwdnp Jwulwgbun 105000 0.1 10500
2 Unwpwwnwn dwulwqgbun 1 Jwpn 95000 1 95000
3 I jwpgh Jwulwgbwun 1 Jwpnn 85000 1 85000
4 1l ywpgh Jwulwqgbun /pwlt 2 Jwpn 80000 2 160000
5 dwnnpn 1 Jwpn 80000 1 80000
5 5.1 430500
1.0866
467781.3
Iuc4ury

Unjnruwy 39 " 328.01-07

I nwuh UphYGhpwgdwU w2fuwwnwuputnh

1 g6.yJd ynyuwyh pupwgph hwdwn, 10 Jwpn - 0.9712 on (Il ndqwnnipjwl)




QnLdwpp

NN 8nLgwilihputp ::;;:z:#m LPuwlwlyp Uh wt[}m h wbll}gd‘bpn punwdtup
n nn /pwd/
1 2 3 4 5 6
1 [Wehuwnuyuing AnwWU 924153.3:21x0.9712 42740
2 |UnLpwlywl dwhuubp npwJ 800
3 |QnpdnLnUwiu swhuubp op x dwpn 0.9712x 10 8000 77696
LbpphU W wpunwphlu o
4 inpuiliuwy, Swhuubn %o 11 13336
5 U2huwwnwupubph uqdwy. % 11 7723
W (nLswpnud
6 |Uw2dwdnrpnLu % 5.06 7200
7 |dGpwnhp dwhuubn % 24.56 36716
Cunwdtunp® npwd 186 211
uuz’ % 20 37 242
Wdpnngp’ npwd 223 454
Pphgwnh Yuaqup
1 Quwynp Jwuliwgbwn 105000 0.1 10500
2 Unwpwuwnwpn dwuliwgbun 2 Jwpn 95000 2 190000
3 IJwpgh Jwulwqbun 2 Jwnn 85000 2 170000
4 1l ywpgh Jwulwgbwun /pwlc 5 dwnn 80000 5 400000
5 dwpnpn 1 dwpn 80000 1 80000
10 101 850500
1.0866
9241563.3
Iucdury
I nwuh UhdGihpwgdwu Uncpetph dowyncd
Unjntuwy 94 " 4311.01
14yd, 1 dwpn-0.150n
Qnrdwpp
NN SnLgwlpolbn ":[‘I‘:L"'m‘l’:u Lwlwlyp U”w‘l}’"”w‘:’;d"m punwdtlp
n nn /pwd/
1|U2huwnwywiné npwJ 120340.95:21 x 0.15 860
2|UinLpwywl swhuubp npwuJ 2100
3|UwodwbnipinLu % 5.12 152
4{JdGpwnhp dwhuubn % 20.73 645
Lunwdtlun® nnwd 3756
uu3” % 20 751
Udpnnop' nnwd 4507




Fnhgqwnh Yuaqup

1 Qiruwynn dwulwagbiun 105000 0.15 15750
1 Unwowwnwn dwulwagbwun 1 dwpn 95000 1 95000
1 1.15 110750
1.0866
120340.95
Iuc4HuUry
I W Il nwutph UhyGihpwgdwl YGuinkph
pwpéanniynLtuutGph uwwwingh Yuqudwu
UnjnLuwy 98 423.01
10 yGwn, 2 dwpn - 0.125 op
QnLdwpp
NN 8nLgwlpolbn %%’z:l’:'" Lwlwlp U”“"l}’"”w‘t’,fdb‘-’ﬂ punwutlp
n Lk Mmpwd/
1{Uohuwwnwdwpé npuwuJ 223567.95:21 x 0.125 1331
2|UinLpwywl swhuubp npwuJ 2500
3|UwoJwbnipinLu % 5.12 196
4{JdGpwnhp dwhuubn % 20.73 835
Cunwdtun® npwd 4862
uuz- % 20 972
Udpnnop' npwd 5834
Fphqunh Yuqup
1 Qjruwynp Jwuliwgbun 105000 0.15 15750
2 Unwowwnwn dwulwagbwun 2 Jwnn 95000 2 190000
2 2.15 205750
1.0866
223567.95
Iuc4ury

UnjnLuwy 104 " 4.5.2

1 hwadtGwnyneejnil, 3 dwpn - (65 x 0.3)=20 on

Sthulhywywu hwoybunynipjwu jugqudwlu /dhowliyjwy/




QnLdwpp

NN 8nLgwilihputp ::;;:z:#m LPuwlwlyp Uh wt[}m h leu;d‘bpn punwdtup
n nn /pwd/
1{Uohuwwnwdwiné npwuJ 424588.95.3:21 x20 289760
2{Uy dwhuubn npwuJ 3500
3|UwodwdnipinLu % 5.06 14839
4{dGpwnhp dwhuubpn % 24.56 75669
Cunwdtun® npwd 383768
uu3z’ % 20 76754
Udpnnop' npwd 460522
Pphgwnh Yuaqdp
1 Qfuwdnp Jwulwgbun 1 dwpn 105000 1 105000
2 Unwowwnwn dwulwagbwun 1 dwpn 95000 1 95000
3 OwtGpwuwnnn 1 Jwpn 80000 1 80000
3 3 280000
1.0866
304248.0
uc4Hury
SGhulhywywu hw2yGunynipjwl uagudwl /dhpwiliyjuy/
UnjnLuwly 104 "4.5.2
1 hwaytGwnynepjnil, 3 dwpn - (65 x 0.3)=20 on
Qnidwpp
NN SnLgwlpoUbn f,‘;)’il‘l’,‘f“ Lwlwlp U”“"l}””’w‘flfdb‘-’n punwutlp
n nn /puid/
1{UWohuwwnwdwné npwuJ 424588.95.3:21 x20 289760
2{Uy dwhuubn npwuJ 3500
3|UwodwdnipinLu % 5.06 14839
4{JdGpwnhp dwhuubp % 24.56 75669
Cunwdtlun® npwd 383768
uu3’ % 20 76754
Udpnnop' npwd 460522
Pphqunh Yuqup
1 Qfuwdnp Jwulwgbun 1 Jwpn 105000 1 105000
2 Unwowwnwn dwulwgbun 1 dwnn 95000 1 95000
3 OwGpwuwnn 1 dwnn 80000 1 80000
3 3 280000
1.0866

304248.0




UnynLuwy 104 " 452.01

Iuc4ury

Sthulhywywu hwoytunynipywl Yuagudwl

1 hwayGwnynipiniu, 4 Jwpn - 65 on

165*0.5=32.5/on

QnLdwpp
NN 8nLgwlpolbn ":[‘I‘;Zi‘#’ Lwlwlp U"“’“g}’;”w“l}f””‘-’ﬂ punwutlp
Mmpwd/
1{Uohuwwnwdwiné npwuJ 424588.95.3:21 x65 630616
2|UinLpwywl dwhuubn npwuJ 15000
3|UwodwdnipinLu % 5.06 32668
4{dGpwnhp dwhuubpn % 24.56 166587
Cunwdtun® npwd 844871
uu3z’ % 20 168974
Udpnnop' npwdJ 1013845
Pphqwnh Yuaqup
1 Qfuwdnp Jwulwgbun 1 Jwpn 105000 1 105000
2 Unwpwwnwn dJwulwqgbun 2 Jwpn 95000 2 190000
3 OwtGpwuwnn 1 Jwpn 80000 1 80000
4 4 375000
1.0866

407475




ueIuNy 1
Nujdwbwyuwl bowblbtph dpwynid, uwbndnid

1 Gpwh - 0.35 on

Qunfuful Uhwynph Qnidunnp
Snigulihplbtp Jhurn Luiwjn unpdtpep pbnudtlnp
r /npud/ /npud/
1 |Uphwnwduné npud 3,332
2 |Uyp OSuwhukn npwud 200
3 |Uwpdwdnipjnih % 5.06 179
4 |dbpwunhp Swhukn % 24.56 911
Lunudtup® npwd 4,622
uu3” % 20 924
Udpnnep*® npuwd 5,547
£phqunh YJuqup
Q1 hwdnn Juulbwugbn 1.15 dJupn 160,000 1.15 184,000
184,000 1.0866 199,934
uTIUNY 2

Nujdwbwywb bowblbtnph tuphgbbnh uwbndnid, dbwynpnid U pywjbwgnid

1 Gpowh - 0.23 on

ol Uhuwynph Qnidunp
Snigulihplbtp dpurynp Lubwlyp unpdtpep punudtlp
/npud/ /npud/
1 |Uohwuwnwduné npud 2,190
2 |Ugp Suwpubkp npud 200
3 |Uwpdwdnipjnil % 5.06 121
4 |Jdbnwunhnp Swhubn % 24.56 617
Lunudtlp nnud 3,127
uu3” % 20 625
Udpnnop*® npuwd 3,753
£nhqunh YJuqup
Q1hwdnp Juubwgbm 1.15 Jupn 160,000 1.15 184,000

184,000 1.0866 199,934




yTIuLy 3

E1Ghunntwjht Unjwuh Gwhugunpuunuub wpunwbebtn /Gwhwugdh unbndnid,
Ujniptnh hwjwpwgnnid, drwynid ../

1 hwp. - 90 on
Q.
Qunfuful Uhuynph nidunn
NN Sniguiihpltp Jhunn Lubiwjn unpdtpep pbnudtlnp
7 /apund/ /npud/
1 |Uohwnwdjuné npwud 1,555,390
2 |Uyp Suwhukn nnud 1,000
3 |Uwpydwdnipjnil % 5.06 78,753
4 |Jdbpuwnhp Swhubn % 24.56 401,591
Lunudtup® npuwd 2,036,735
w3’ % 20 407,347
Udpnnep*® npuwd 2,444,082
fodph YJuqup
1  Qihwynnp Jwulbugbwn 1.15 dJupn 160,000 1.15 184,000
2 Uowjwnwp Jwubwugbn 1 Jdunn 150,000 1 150,000
334,000 1.0866 362,924
yeIuNy 4
Unjwuh pnyuwbnuinipjwb unbtndénid b hwunwnnid
1 Egh hwdwp 41 on
Q.
ol Uhuwynph nidunn
NN Snigulihplbp dpurn Lubwlyp unpdtpep punudtlp
r /npud/ /npud/
1 |Uohwnwdunaé npud 390,348
2 |Ugp Suwpubp npud 500
3 |Uwpdwdnipjnil % 5.06 19,777
4 |Jdbnwunhnp Swhubn % 24.56 100,850
Lunudtlp nnud 511,475
uu3” % 20 102,295
Udpnnep* npud 613,769
fodph YJuqup
1  Qihwdnnp Jwulbuwgbn 1.15 dupn 160,000 1.15 184,000

184,000 1.0866 199,934




UTIULY 5
fupntqbtph untndnid / ndpwgpnid, dlwynpnid, uppwgnpnid, hpwnwpuynid/

1 punpnbg - 65 on

Quplil Uhuwynph Qniduwpp
S8niguihplblp dpurjnp Lubuwljn wnpdtpep punuwdtlnp
/npud/ /npud/
1 |Uphwnwjuné npwud 2,132,323
2 |Ugp Suwphubp npud 200
3 |Uwpdwdnipjnil % 5.06 107,906
4 |Jdtnwnhnp Swhubn % 24.56 550,249
Lunuwdtlp® nnud 2,790,678
vyl % 20 558,136
Udpnnep* npud 3,348,814
ephqunh YJuqdn
Q1hwdnp Jwulbwugbn 1.15 dJunn 160,000 1.15 184,000
Unwpwnwup Jwubwugbin 3 dwpn 150,000 3 450,000

634,000 1.0866 688,904




AUTIUNLY
Stnuanugbtnntghuywb wphwnubpepbtnh
wbhbhywywl bwhwadh JugUuduwlb

Unjniuwly 106 § 451.08
1 Gwhwghd, 4 Jupn, 20 on

Qni
SnigulihoUkp ouiul Jpunp 2uwllp Upuinpp wpdtep Bbz}w'-?é]bﬂg
/npud/ -
1 Uohunnudun & npud 600217
2 Uj1 OSuwpuubip nnud 148
3 UwoJudnipjnil % 5.06 30378
4 Jhpunhp Swhubip % 24.56 154911
Lunuwdtlp® npud 785654
uu3” % 20 157131
Udpnnep* nnud 942785
enhqunh YJuqup
Q1 owynp Jwulbughn 1 Jupn 160000 1 160000
Unwpwnwn Juwubwghn 2 dwnn 150000 2 300000
Owbpwnnn 1 Jupn 120000 1 120000
4 4 580000
1.0866
630228

AYTIULY

1:2000 Jwupuwph oppndnunhunuuagdtnh gpuwublbjuuihlb Ybopdwlnid Junniguyunywud
nunuwdepbtnnid

Unjniuwly 74 § 4412.01-05 (V Jupgh pupnnipjwl)
1 hw, 1 Jupnp 2.725 : 8 = 0.340625 op

SnigulihplUbp Quufidwls Jhwynp Lulimln Upujnph wpdtpp éiz;ﬁgg;
/npud/
/npud/
1 U2 unwjun a nnpud 3067
2 Uyl Suwpuiutin nnud 500
3 UwpJwdnipjnil % 5.06 180
4 Jbpunhp Swhiubn % 24.56 920
LUunuwdtlp npwd 4668
vyl % 20 934
Udpnnegn npwd 5601
enhqunh YJuqdp
Q1hwynp duulbwgbn 160000 0.15 24000
Unwpunwn duwubughbn 1 Jdupn 150000 1 150000
1 1.15 174000
1.0866

189068.4




AYTIULY

1:2000 dJwupuwph oppndnunhunuljugdtnh gpuwubtljwlwiht Jtpdwlbnid ns
Junniguyunyud nunpudpbbnnid

[njniuwy 74 § 4412.01-05 (V Jupgh pwpnnipjw
hw, 1 dupn (2.725 x0.6): 8 = 0.204375 op

Qnidupp
19) dt,
NN 8nLgulihoUkp Quupfuli Upwynp Luliulp Punph wpdbep | nn
/npud/
/npud/
1 U2 hmunwJun a nnud 1840
2 Uj1 Suwpuubin nnud 500
3 UwpJwdnipjnil % 5.06 118
4 Jtpunhp Swhutn % 24.56 604
Lunudtlp npud 3062
vyl % 20 612
Udpnnen npud 3675
fphqunh YJuqup
1 Q1hwynp Jwubwugbm 160000 0.15 24000
2 Unwpwnwn Juwubwghn 1 Jwnpn 150000 1 150000
1 1.15 174000
1.0866
189068. 4
UTIULY
1:2000 Jwupuuph onpndnunhunulugdtnh nuruwihl Jonpdwlnid YJunniguyunyud
nupwdpbinnid
njyniuwl 52 § 333.01-05 (I Juwnpgh pupnnipju
1.02 : 8 = 0.1275 op
Qnidupp
NN Snigulihpolbp Quufidwls Jhwynp Lulimln Upujnph wpdtep plbnudtlnp
/npud/
/npud/
U2 hunwjun a nnud 3602
Uyl Suwpuiutin npud 949
Annpdninuwl Swhubtn on x Jdupn 8000 4080
Ltnepht b wpuuwehl
4 % 11 4
wmpwbu. Swhiutin 049
UwpJwdnipjnil % 5.06 485
Jbpunhp Swhiukn % 24.56 2472
Lunuwdtup*® npud 12 537
uu3’ % 20 2 507
Udpnnep* npud 15 045
enhqunh YJuqdp
1 Q1hwynp Jwubwgbn 160000 0.1 16000
1 150000

2 Unwewnwn Juulugbn 1 Jdupn 150000



3 I Junpah Jwulbwgbn 2 dupn 130000 2 260000
4 Jwnnprn 1 Jwpn 120000 1 120000
4 4.1 546000
1.0866
593283.6
AUTIUNLY
1:2000 Jwupuwph oppndnunhunwulugdtnh nwpunwiht Jopdwbnid ny Junniguyunywud
nupwdplbnnid
njniuwly 52 § 333.01-05 (I Juwnpgh pupnnipju
hw, 3 dJupn (1.02x0.6):8=0.07
Qnidupp
19) dt,
NN 8nLgulihoUkp Quupfuli Upwynp Luliulp Punph wpdbep | nn
/npud/
/npud/
U2 hunwjun a npud 2161
Uyl Suwpubin npud 949
Annéninuul Swhubin on x Jdwnpn 8000 2448
Lhnehlt b wpuuphl o
4 wnnwlu. Swpuiutn ° 1L 6Ll
5 UwpJwdnipjnil % 5.06 312
6 Jtpunhp Swhutn % 24.56 1592
Llunuwdtup® npud 8 074
vyl * % 20 1 615
Udpnnep* nnpwd 9 689
fphqunh Yuqup
1 Q1hwynp Jwubwgbn 160000 0.1 16000
2 Unwewnwn Juwulwghn 1 Jdwnpn 150000 1 150000
3 I Ywnpah Jwulbwgbn 2 dupn 130000 2 260000
4 Jwnnpn 1 Jwpn 120000 1 120000
4 4.1 546000
1.0866
593283.6
AUTIULY
1:2000 Jwupuuwph Junniguyun wnwpwdplbnh nuouwihl punpdugudul
Jniuwly 50 § 332.21-25 (III Yupgh pwpnnip)
5 dupn 1.0 8 x 0.3= 0.037
Qnidupp
d
NN Sniguliholkp Quiuli Jhwynp £wlulp Upunph WpGBER | o pingkun
/npund/
/npud/
U2 hwnwjun & nnud 1273
Uj1 Swhukn nnud 500
Annpdénindwl Swhubtin on x Jduwpn 8000 1500
Lhnpphlt U wpuwphlb 5
4 wmpubu. Swhiutin ° H 360
5 UwpJwdnipjnil % 5.06 184
6 Jbpunhp Swhiubn % 24.56 937




Lunuwdtup*® npud 4 754
vyl * % 20 951
Udpnnep® nnpwud 5 705
fphqunh YJuqup
1 Q1hwdnp Jwubwgbm 160000 0.1 16000
2 Unwpunwn Juwubwughbn 1 Junpn 150000 1 150000
3 I Yunpah Jwulbwugbn 1 Jwpn 130000 1 130000
4 IT Jupgh Jwulbuwugbwn 2 dupn 120000 2 240000
5 Jwnnpn 1 Jwpn 120000 1 120000
5 5.1 656000
1.0866
712809.6
yTIuNYy
1:2000 Jwupuuph ny Junniguyun wnwupuwdplbnh guouwihl punpdugUdul
Unjniuwly 50 § 332.21-25 (III Jwunpgh pwnpnnipjul)
lhw, 5 dJwpn 1.0 8 x 0.3x0.6 = 0.0225 on
Qnidunp
19) dt,
NN Sniguliholkp Quiul Uhunp ewlulp Punph WpdtER | o eEn
/npud/
/npud/
U2 hunwJuna nnud 764
Uyl Suwpubin npud 500
3 Annéninuul Swhubin on x Jdwpn 8000 900
Utneht U wnuwehl o
4 wnnwlbu. Swpuiutn ° 1L 238
5 UwpJwdnipinil % 5.06 122
6 Jtpunhp dwhutn % 24.56 620
Lunuwdtup® npud 3 143
vyl *” % 20 629
Udpnnep* npwd 3 772
enhqunh YJuqup
1 Q1hwynp Jwubwgbn 160000 0.1 16000
2 Unwpwnwn Juwulwghn 1 Jdwnpn 150000 1 150000
3 I Jwnpgh Jwubwgbn 1 Jwnpn 130000 1 130000
4 IT Yupgh Jwubwugbwn 2 dunpn 120000 2 240000
5 Jdunnnrn 1 Jwnpn 120000 1 120000
5 5.1 656000
1.0866
712809.6
AUTIUNY
1:2000 Jwupuwph Junniguyunyud nwpudeh wbnugpuiyuwlb huwnwiwugdtph  uwnbndnid

onpnnunhunwiugdtnh hhdwb Jpw




Unjniuwly 76 §

4414.01-05

1 hw, 1 Jdupn - 0.550875 on

(V- Jupgh pwpnnipjwl)

Qnidupp
19) dt,
NN 8nLgulihoUkp Quupfuli Upwynp Luliulp Punph wpdbep | nn
/npud/
/npud/
1 U2 hmunwJun a nnud 7468
2 Uj1 Suwpuubin nnud 245
3 UwpJwdnipjnil % 5.06 390
4 Jtpunhp Swhutn % 24.56 1990
Lunudtlp npud 10093
vyl % 20 2019
Udpnnen npud 12112
enhqunh YJuqdp
Q1hwynp Jwubwugbm 160000 0.7 112000
2 Unwpwnwn Juwubwghn 1 Jwnpn 150000 1 150000
1 1.7 262000
1.0866
284689.20
AYTIUNY
Junuwunpwihlb pwupwbgbbph U wj]p wnlbw Ujniptph hwdunpnid Junniguyunyud
nunpwdepni U
1 hw, 1 dupn - 0.313 on
Qnidupnp
l9) dt,
NN Sniguliholkp Quiuli Jhunp Luwlalp punjnph WpdBER | tn
/npud/
/npud/
1 U2 hwnwJunp a npud 4243
2 Uyl Suwpubip nnpud 245
3 UwpJwdnipjnil % 5.06 227
4 Jtpunhp dwhutn % 24.56 1158
Lunudtln npud 5873
uy3’ % 20 1175
Udpnnen npud 7048
enhqunh YJuqunp
1 Q1hwdnp Jwubwgbn 160000 0.7 112000
2 Unwpuwwmup Jdwulwugbn 1 Jwnpn 150000 1 150000
1 1.7 262000
1.0866
284689.20
12212+7048=19260
AYTIUNY
JQunuunpwjhl pupnbqbbnph U wjlp wniuw GJniptph hwdunpnid ny Junniguyunyud




nunpwdepni U

Unjniuwly 76 § 4414.01-05 (V QJupgh pwpnnipjub)
1 hw, 1 Jupn - 0.550875x0.6=0.330525 on

Qnidupp
19) dt,
NN 8nLgulihoUkp Quupfuli Upwynp Luliulp Punph wpdben | nn
/npud/
/npud/
1 U2 hmunwjun a nnud 4481
2 Uyl Suwpuubip nnud 245
3 UwpJwdnipjnil % 5.06 239
4 Jtpunhp Swhutn % 24.56 1219
Lunudtlp npud 6184
vyl % 20 1237
Udpnnen npud 7421
fphqunh Yuqup
1 Q1hwynp Jwubwgbm 160000 0.7 112000
2 Unwpwnwn Juulwghn 1 Jwnpn 150000 1 150000
1 1.7 262000
1.0866
284689.20
AYTIUNY
Qunuunpwihlb pwupwbgbbph U wjp wnlbw Ujniptph hwdunpnid ny  Junniguyunyud
nunpwdepni U
1 hw, 1 Jwpn - 0.313x0.6=0.1878 on
Qnidupp
l9) dt,
NN Sniguliholkp Quifuli Jhunp euwlalp punjnph WpdBER | tn
/npud/
/npud/
1 U2 hunwJun a npud 2546
2 Uyl Suwpubip npud 245
3 UwpJwdnipinil % 5.06 141
4 Jdtpunhp dwhutn % 24.56 720
Lunudtln npud 3652
uy3” % 20 730
Udpnnen npud 4383
fphqunh Ququp
1 Q1hwdnp dwubwgbn 160000 0.7 112000
2 Unwpuwwmup Jdwuulwugbn 1 Jwnpn 150000 1 150000
1 1.7 262000
1.0866
284689.20

7421+4383=11804




AYTIULY

VUL IGUULU JUW UW L IW iU IIWL O JUY YLl [IUU]I[l L[11ULIL U,

n1 nbad@innnTithoh oalinit mamIn limnnt aonmmmmlng mmmmé&enial

Unjniuwly 61 § 343.01-05 (ITII YJupgh pwpnnipjwl)

Inhwnwhnp/ti1e/, 4 Jdupn- 0.068125 on

HWULLL [oWG [l U

Qni
NN SnigulihoUkp ouiul Jpwnp 2uwllp Upuinpp wpdtep Bbqu;uZ]IJEB
/npud/ -
U2 hmunwjun a nnud 1925
Uyl Suwpuubip nnud 50
Qnnéninuul Swhubin npud 8000 2180
4 bbgﬁgﬁuu éﬁgﬁlﬁhh npwd 11 457
6 UwpJwdnipjnil % 5.06 233
7 Jdbpunhp dwhiubn % 24.56 1190
Lunudtlp npud 6035
vyl % 20 1207
Udpnnepn npud 7243
enhqunh YJuqup
1 Q1hwdnp dwubwgbn 160000 0.1 16000
2 Unwpwnwn Juwulwughn 1 Jwnpn 150000 150000
3 I Jupagh Jdwubwgbn 2 dwnn 130000 2 260000
4 Jdupnnn 1 Jwnpn 120000 1 120000
4 4.1 546000
1.087
593283.60
AYTIUNY
UULIL[IGUUIU JW  UW J[UILIW J[1U WU WYYIILI [IUU[I[l I[IIUIlIL U, I[IWUIlL[¢Wg[lI1LuU
ninbadmnnnliheh oalini maamin no Tnnnnt ammmmin® mnnmaenial
Unjniuwly 61 § 343.01-05 (ITII Yupah pwpnnipjwl)
Inhwwhnp /t1e/, 4 Jupn- 0.068125x0.6=0.040875 on
Qni
NN 8niguilihplikp Qunpluls Jhunjnp eutuyyp  |UPUBpR wndten Bbr}wlll;ugllzﬂjg
/npud/ -
U2 hunwJunp a npud 1,155
Uj1 Swhukn nnud 50
Annpdénindwl Swhubtin nnud 8000 1,308
4 bbﬁﬁgﬁuu &Eﬁi‘ﬁﬁhh npwd 11 276
6 Uwpywdnipjnih % 5.06 141
7 Jdbpunhp Swhutn % 24.56 720
Lunudtlp npud 3,650
uy3’ % 20 730
Udpnnepn npud 4,381

ephqunh Yuqdn




Sw N

Q1hwynp Jwulbugbn 160000 0.1 16000

Unwpunwn Juwubwughbn 1 Junpn 150000 1 150000
I Yunpah Jwulbwugbn 2 dupn 130000 2 260000
Junnnn 1 Junpn 120000 1 120000
4 4.1 546000
1.087
593283.60
APTIUNLY
UULLI[IGUULIU W UW LW J[IU WL WYYIILI) [IUU[I[]l UlulJWUUIll U WL L JWyuulywo

mumm&ehhnnial

[njniuwy 57 § 341.01-03 (I Yuwnpgh pupnnipjwh

1 hw, 4 Jupn- 0.04 on
Qnidupnp
19) dt,
NN Sniguliholkp Quiul Uhunp ewlulp Puinph WpdtER | o enn
/npud/
/npud/
U2 hunwJuna npud 1109
Uj1 Suwpubinp npud 100
Annéninuul Swhubin npud 8000 1280
Lbnephlt b wpuuphl
7
4 wpuwbu Swhubn apud 1L 274
6 UwpJwdnipjnil % 5.06 140
7 Jtpunhp Swhutn % 24.56 713
Lunudtlp npud 3 616
vyl % 20 723
Udpnngp nnud 4 340
fphqunh Ququp
1 Q1hwynp Jwubwgbm 160000 0.1 16000
2 Unwpwnwn Juwulwghn 1 Jdwnpn 150000 1 150000
3 I Ywpah Jwulbwgbn 1 Jwpn 130000 1 130000
4 fuliynnp 1 Jwpn 120000 1 120000
5 Jwnnpn 1 Jwpn 120000 1 120000
4 4.1 536000
1.0866
582417.6
AYTIUNY
UULL[IGUULU JW UWJJILL W [IU DWW OUPWY YOI LUl W] PUfI[l W L[IUWMII LG Ui 1]l
himhini mnanniil Tninnt ammmmn o mnmnméaehibnnial
1Jnruwly 59 § 342.01-05 (IITI Jwngh pwpnnipjw
1 hw, 4 dupn - 0.0315 on
Qnidunp
l9) d
NN Sniguliholkp Quiuli Jhunp £wlulp punjnph WpdBER | ikln
/npud/
/npud/
1 U2 hwnwdun & nnud 890

12

12



Uyl OSuwpiutip nnud 190
Qnnéninuul Swhubin npud 8000 1008
Lhnephlt b wpuuphl

4 npulu Suutn nnpwud 11 230

6 UwpJwdnipjnil % 5.06 117

7 Jtpunhp Swhutn % 24.56 598
Lunudtlp npud 3 033
3" % 20 607
Udpnnen npud 3 639

fphqunh Yuqup
1 Q1hwdnp Jwubwugbm 160000 0.1 16000
2 Unwpunwn Juwubwughbn 1 Junpn 150000 1 150000
3 I Ywnpah Jwulbwgbn 2 Jdupn 130000 2 260000
4 Junnnn 1 Junpn 120000 120000
4 4.1 546000
1.0866
593283.6
AUTIULY

Unnpgbnbjw hunnpnulyginhbbnph gpuublbjujwujhb

Unjniuwly 70 § 347.01

Jouynid /nhuwhnptpnh wdthnthwghn/

wpn 0.2 8 = 0.025 on
Qnidupp
U] dt,
NN Sniguliholkp Quiuli Jhunp Luwlalp punjnph WpdBER | tn
/npud/
/npud/
1 U2 hwnwJunp a npud 199.2
2 Uyl Suwpubip npud 10
3 UwpJwdnipinil % 5.06 11
4 Jhpunhp Swhubip % 24.56 54
Llunudtlup” nnud 274
uy3” % 20 55
Udpnngp’ nnud 329
4340+3639+329=8308 q”"“*%f”””q”
wnynLuwly 57+59+70
fphqunh Ququp
1 Q1hwdnp Jwubwgbn 160000 0.15 24000
2 I Jwnpgh Jwubwgbn 1 Jwnpn 130000 1 130000
1 130000 1 154000
1.0866

167336.4

12



Unnpgbnbjw Jdwjpninuihlb hunnpnulgninhbbph wbnugblbnid

AYTIULY

nunuwdeplbtnnid

.01-03 (I Ywpgh pwpnnipjwul)

nsy Junniguyunyjud

hw, 4 Jdupn- 0.04x0.6=0.024
Qnidupp
NN 8nigulihpbbp Quupdwls Jhwynp Luliuln Upujnph wpdtpp punudtln
/npud/
/npud/
1 U2 hunwjun a nnud 666
2 Uyl Suwpubin npud 100
3 Anpdninuul Swhubp npud 8000 768
Ltnphlt b wpuuwphl
4 npulu Swhubp npwd 11 169
6 UwpJwdnipjnil % 5.06 1702
7 Jdtpunhp dwhutn % 24.56 418
Lunudtln npud 2120
vyl % 20 424
Udpnnen npwd 2 545
enhqunh YJuqdp
1 Q1hwynp Jwubwgbn 160000 0.1 16000
2 Unwewnwun Juubughbn 1 Jdupn 150000 1 150000
3 I Juwpah Jdwulbwgbn 1 Jdupn 130000 1 130000
4 owliynp 1 dJdupn 120000 1 120000
5 Jwnnprny 1 Jwnpn 120000 1 120000

13



4 4.1 536000

1.0866
582417.6
APTIUNLY
UULLI[IGUULIU JW UW LW J[IU WP WYYILLI) [IUU[I[l W[ ZU[l[l W L[IUWILII[IU]I[l ULWI[IU L]l
hilint mnanniil ns Inimni anmmnn inmnim&elibnnaal
1Jniuwly 59 § 342.01-05 (III Jupgh pwpnnipjw
1 hw, 4 dupn - 0.032x0.6= 0.01920n
Qnidupp
U] dt,
NN 8nLgulihoUkp Quupfuli Upwynp Luliulp Punph wpdbep | nn
/npud/
/npud/
U2 hmunwjuna nnud 542
Uj1 Suwpubinp npud 190
Annéninuul Swhubin npud 8000 614
Utneht U wnuwehb
4 npult Suhibp npud 11 148
6 UwpJwdnipjnil % 5.06 76
7 Jbpunhp Swhiubn % 24.56 386
Lunudtlp npud 1 956
uu3” % 20 391
Udpnnen npwd 2 348
fphqunh Yuqup
1 Q1hwdnp dwubwgbn 160000 0.1 16000
2 Unwewnwn Juwulwghn 1 Jdwnpn 150000 1 150000
3 I Jupagh Jdwubwgbn 2 dwnn 130000 2 260000
4 Jdupnnn 1 Jdwnpn 120000 1 120000
4 4.1 546000
1.0866
593283.6

2545+2348+329=5222 ny Junniguuumyud

wnynLuwly 57+59+70

AUTIUNY
unnpgbnlbiju hunnpnuijgninhbtph hwnwyuwgdtnh jugqunid  Junniguyunjud nwnpudpnid

njniuuy 68 § 346.01-05 (IV Jupgh pwpnnipjul
1 nd, 5 dupn - 0.01175 on



Qnidupp
U dt,
NN 8nigulihpUbtp Qunpdwls Jhwynp Luimyp huynph wpdtep plnudtlp
/npud/
/npud/
U2 hmunwjun a nnud 399
Uyl Suwpuubip nnud 43
Qnnpéninuul Swhubipn npud 8000 470
Lhnephlt b wpuuphl
4 npulu Suutn nnpwud 11 100
6 UwpJwdnipjnil % 5.06 51
7 Jtpunhp Swhubtn % 24.56 261
LUunuwdtlp npwd 1324
vyl % 20 265
Udpnnen npud 1589
fphqunh YJuqup
1 Q1hwynp Jwubwgbm 160000 0.1 16000
2 Unwpwnwn Juwulwghn 1 Junpn 150000 1 150000
3 I Ywnpah Jwulbwgbn 1 Jwpn 130000 1 130000
4 IT Jupgh Jdwulbugbwn 2 Jdupn 120000 2 240000
5 Jwnnpn 1 Jwpn 120000 1 120000
5 5.1 656000
1.0866
712809.6
AYTIUNY
E1Eyunntwiht wbkntwdwnjwblbbnh npwgnid
Unjniuwly 104 § 4414.03
10 wbnbywdunjwl, 1 dJupn - 0.2125 on
Qnidupp
l9) dt,
NN Sniguliholkp Quifuli Jhunp euwlalp punjnph WpdBER | tn
/npud/
/npud/
1 U2 hwnwJunp a npud 1913.2
2 Uyl Suwpubip npud 50.0
3 UwpJwdnipinil % 5.06 99.3
4 Jtpunhp dwhutn % 24.56 226.9
Lunudtlp npud 2289.4
uy3’ % 20 457.9
Udpnnen npud 2747.3
1 wbnblwdunnjwl 274.3
fphqunh Yuqup
Q1hwdnp Jwubwgbn 160000 0.15 24000
Unwpuwwmup Jdwulwugbn 1 Jwnpn 150000 1 150000
1 1.15 174000

1.0866

14



189068.4

APTIUNLY
unnnabnbiju hunnpnulgninhbbnh hwbnipugnduwlb Ljynipbtph gpuublbjulujhl
wphunubebtnh
Unjniuwy 70 § 347.01
1 nhuwhnp, 1 Jupn - 0.025 on
Qnidupp
19) dt,
NN 8nLgulihoUkp Quupfuli Upwynp Luliulp Punph wpdbep | nn
/npud/
/npund/
1 U2 hmunwjun a nnud 225.1
2 Uyl OSuwpuutinp nnud 49.0
3 UwpJwdnipejnil % 5.06 13.9
4 Jtpunhp Swhutn % 24.56 70.7
Llunudtln nnud 358.7
vyl % 20 71.7
Udpnnen npwd 430.4
enhqunh YJuqup
Q1hwdnp Jwubwgbm 160000 0.15 24000
Unwpwnwn Juwubwghn 1 Jwnpn 150000 1 150000
1 1.15 174000
1.0866
189068.4
1589+274.3+430.4=2293 Junniguuumnjud
wnyntuwl 68+104+70
AYTIUNY
unnngbnbiju hunnpnulygninhbbnh hunwugdtnh Jugunid ny Junniguuyunyud
nwnuwdpnid
njniuuy 68 § 346.01-05 (IV Jupgh pwpnnipjul
5 dupn - 0.01175x0.6=0.007
Qnidupn
d
NN Sniguliholkp Quiul Jpwynp £wlulp Upunph WpoBER | o pneun
/npund/
/npud/
1 U2 hunwdun a nnud 239
2 Uj1 Swhukn nnud 43
Qnpdéninuul Swhiubip npud 8000 282

14
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Lhnepht b wpuuwphl

4 wnpwbu Swhiubtip apud 1 85
6 UwpJwdnipinil % 5.06 33
7 Jtpunhp Swhutn % 24.56 168
Lunudtlp npud 850
vyl % 20 170
Udpnnen npud 1019
fphqunh YJuqup
1 Q1hwdnp Jwubwugbm 160000 0.1 16000
2 Unwpuwnwn Juubwghbn 1 Junpn 150000 1 150000
3 I Yunpah Jwulbwgbn 1 Jwpn 130000 1 130000
4 IT Jupgh Jdwulbuwugbwn 2 dupn 120000 2 240000
5 Jwnnprn 1 Jwpn 120000 1 120000
5 5.1 656000
1.0866
712809.6
1019+274.3+430.4=1723 nsy Junniguuumyud
AYTIUNY
wbhpwdtow 2Gpuwbnh unbndduwl, nuwuwlyunpguuwl, Jhwupbpdwlb Yunniguyunguwd
nunwdepltnnid
1 hw, 1 dupn, 1 2Gpuwh hwdwup - 0.04 on
Qnidupp
l9) dt,
NN Sniguliholkp Quiuli Jhunp Luwlalp punjnph WpdBER | tn
/npud/
/npud/
1 U2 hwnwJunp a npud 318.7
2 Uyl Suwpubip npud 10.0
3 UwpJwdnipinil % 5.06 16.6
4 Jtpunhp dwhutn % 24.56 84.8
Lunudtln npud 430.2
uu3” % 20 86.0
Udpnnen npud 516.2
fphqunh Ququp
1 Q1hwdnp Jwubwgbn 160000 0.15 24000
2 I Yungh Jwubwugbwn 1 Jwnpn 130000 1 130000
1 1.15 154000
1.0866
167336.40

AYUTIULY
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wbhpwdbow 2btpuknh unbtnddwl, nwuwyupgdwl, Jhwpbpdwl ns Junniguyunjud
nunwdepbtnnid

1 hw, 1 dJupn, 1 2Gpuwh hwdwup - 0.04x0.6=0.024 on

Qnidupp
U] dt
NN 8nLgulihoUkp Quupfuli Upwynp Luliulp Punph wpdbep | nn
/npud/
/npud/
1 U2 hmunwjuna nnud 191.2
2 Uj1 OSuwpuubip nnud 10.0
3 UwpJwdnipinil % 5.06 10.2
4 Jhpunhp Swhubip % 24.56 51.9
Lunudtlp npud 263.4
uy3” % 20 52.7
Wdpnnep npud 316.0
enhqunh YJuqup
1 Q1 lowynp Juulbughn 160000 0.15 24000
2 I YJupgh Jwulugbn 1 Jupn 130000 1 130000
1 1.15 154000
1.0866
167336.40
APTIUNY

Puquihlb bpypuunbntiunduyub hwdwwupgh hwdwp
bEnudniddwb wyjwibbnh pwuqw Junniguwuniywud nwpudplbbnnid

Unjniuwly 78 §

4115-01

1 wunpp, 1 Jdupn 0.140 : 8 = 0.0175 on

nyjwlbtnh hwjuwpwgnduwb U

Qni
NN Sniguliholkp Quiuli Jhunp Luwlalp Upuinpp wpdtep Bbr}wlll;ugllzﬂjg
/npud/ s
1 U2 hwnwJunp a npud 157.6
2 Uyl Suwpubip npud 10.0
3 UwpJwdnipinil % 5.06 8.5
4 Jtpunhp dwhutn % 24.56 43.2
Llunudtlnp nnpud 219.3
uy3” % 20 43.9
Udpnnen npud 263.1
fphqunh Ququp
1 Q1hwdnp dwubwgbn 160000 0.15 24000
2 Unwewnwn Juwulwghn 1 Jdupn 150000 1 150000
1 1.15 174000
1.0866

189068.40

18
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AYTIULY

Puquihlb Ephpunbnbiundujwb hwdwbwunpgh hwdwp  wjyjwibbnh hwjupwgndwbh W
Ltnudniddwlb wmyjwibtnh pwgqw ns Junniguyunwd nwpudplbbtnnid

Unjniuwly 78 §
1 wwnpp, 1 dupn 0.140

4115-01

8x0.6 = 0.0105 opn

Qni
NN Snigulihplbbp Quupidwli Jhwynp Lulimlp Upuinpp wpdtpp pbqwdézz
/npud/
/npud/
1 U2 hunwdun a npud 94.5
2 Uj1 Suwpuutin npud 10.0
3 UwpJwdnipjnil % 5.06 5.3
4 Jbpunhp Swhiubn % 24.56 27.0
Llunudtln npud 136.8
vyl % 20 27.4
Udpnnen nnpud 164.2
enhqunh YJuqdp
1 Q1hwynp dwulbwgbn 160000 0.15 24000
2 Unwpunwun duwubugbn 1 dupn 150000 1 150000
1 1.15 174000
1.0866
189068.40
ySIULY
wnbubhjuwb hwpdbnynipjwb Jugudwh
Unjniuwy 108, § 452.08
upybndnipinil, 3 dupn 39 x 0.66667=26 on
Qni duy,
NN Snigulihpolbp Quufidwls Jhwynp Lulimln Upujnph wpdtep quwdégz
/npud/
/npud/
1 U2 unwjun a npud 444989
2 Uyl Suwpuutin npud 1000
3 UwpJwdnipjnil % 5.06 22567
4 Jbpunhp Swhiubn % 24.56 115077
Lunuwdtup*® nnpud 583633
vyl % 20 116727
Udpnnepn* nnud 700359
enhqunh YJuqdp
1 Q1hwynp dwulbwgbn 1 Jdupn 160000 1 160000
2 Unwpunwn duubugbn 1 Jdupn 150000 1 150000
Owtnuwwnnn 1 Jdupn 120000 1 120000

20
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430000
1.0866
467238



